Unit 2B/3B Review
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Which graph does nof represent a function?
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Which relation 15 a function?

A {(=1,3),0=2,6),(0,00, (=2, =2)}
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If filx) = 2¢¥ — 2, what is the value of f(2)?
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Look at the function that is graphed below.
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5. What is the slope of the line containing the points (=2, 5) \n
and (1,-7)? e
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6. Which eqguation n::prc:ﬁ::ntﬁ the data in the table?
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7. The total cost in dollars, vy, of a membership at each of
four health clubs is represented below in terms of x, the
number of months of the membership.

& Health Club A: ™M = \1 l’) (-OD

v=12xv+ 60
« Health Club B:
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A customer pays a one-time fee of 520 plys 52[]“
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each month for x months. _‘/(‘\ L(_’L‘b J'J-v / A
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i) Which club charges the most per month? (/lu\n i
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r the next 6 months, which
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ii)Which club charges the most to join?

iii) If you wanted to be a member f
club would be the cheapest? ¢ |~

8. Which ordered palr is th:lovcrtc of f{x} i+ 6x + 57

{—3,—4} U B. (-2,
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C. (-L0y (0,-3)
Is itar maximum? g=-Y

9. What is the vertex of the guadratic f(II'J.ET.IU[I )
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A, (5,00 B. (0,-5 C. (3.4 D. (-3,4)
Is it a minimum or m
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10. Which equation represents the line sh
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C. y= %.r+4

11. William wanted to compare the y-intercept of the
functlon y=2x+6x-3 2x? + 6x — 3 with the y-intercept of the
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Which has the greater y-intercept and what is it?

A) Graph, (0, 2)
@) Graph, (0, -2)
C) Equation, (0, 3)
D) Equation, (0,-3)
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Jane dives off a platform into a diving pool. The platform
is 10 meters above the water. The graph below shows
the relationship between her height above the water and
her distance, in meters, from the platform.
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A JANE'S DIVE
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Height above the Water (in meters)

£4) -

13

Y =
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Distance from the Platform
(in meters)

How far away from the platform is Jane when she enters

the water?
A, | meter @ 4 meters
C. 1) meters D. 11 meters
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Pedro throws a ball upward at a rate of 20 meters per

second from an initial height of 2 meters. The height

of the ball above the ground can be approximated by

h = =5 + 20t + 2, where ¢ represents the amount of

time, in seconds, since theyball has hu:n released. \/_
NA J &Y \(b

What is the maximum height that the hal reaches?

A, 5 meters B. 6 meters

C. 20 meters
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14. Which graph best represents y = (x + 2)* — 3?
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Name:

15. Graph in vertex
form

y=a(x—h?+k

a. Determine your
vertex.

Vertex (h, k)

*The sign of his the
opposite

b. Create a table with 2
values to the above and
below the vertex.

Find the vertex by completing the square and graph: y = x> —4x+7

Y= =217 -@
Y=(X-

b+ ) =%

c. Graph. \j: (%—1)24’3
Veor k¥ = (2 11))
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16. Converting to
Vertex Form by
Completing the
Square

Y=l ivs @

Y = (Pt H4)+54
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List the Vertex: ( )
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List the Vertex: ( )




